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QUESTION 1

What are three functions of an SDN controller? (Choose three.)

A. An SDN controller uses federated routes between BGP autonomous systems.

B. An SDN controller uses northbound APIs to manage applications and business logic.

C. An SDN controller uses southbound APIs to manage flow control to the switches and routes in the network.
D. An SDN controller uses federated data between SDN controller domains.

E. An SDN controller functions as a gateway for the virtual machines in the SDN.

Correct Answer: ABC

QUESTION 2

Which two statements are true about Contrail Enterprise Multicloud? (Choose two.)

A. Contrail Enterprise Multicloud supports the intent-driven automation function using PowerShell.

B. Conrail Enterprise Multicloud enables basic device management functions from Contrail.

C. Contrail Enterprise Multicloud supports the intent-driven automation function using Ansible.

D. Intent-driven automation can only be applied on virtual network elements in Contrail Enterprise Multicloud.

Correct Answer: BC

QUESTION 3

Which two statements regarding tags, within the Contrail Security framework, are correct? (Choose two.)
A. RBAC determines which user accounts can modify or remove attached tags.

B. Tags are communicated from the control node to vRouters through route updates.

C. Only the CSPadmin user account can modify or remove attached tags.

D. Tags are communicated from the config node to vRouters through route updates.

Correct Answer: AB

QUESTION 4

Which ETSI NFV function is responsible for the management of virtual network functions (VNF) and element
management systems (EMS)?
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A. Virtual Network Function Manager (VNFM)
B. OpenStack

C. Contrail Command

D. Analytics Database

Correct Answer: A

QUESTION 5

You have a centrally routed and bridged topology.

In this scenario, routing between subnets would be performed on which two types of devices? (Choose two.)
A. leaf

B. spine

C. DC gateway

D. bridge

Correct Answer: AB

Reference: https://www.juniper.net/documentation/en_US/release-independent/solutions/topics/task/configuration/
centrally-routed-overlay-cloud-dc-configuring.html

QUESTION 6

Which two statements about Kubernetes clusters are correct? (Choose two.)
A. The master coordinates the cluster.

B. The minions are responsible for running the applications.

C. The nodes are responsible for running the applications.

D. The pod controller coordinates the cluster.

Correct Answer: AB

Reference: https://www.juniper.net/documentation/en_US/contrail19/topics/task/installation/provisioningk8s-cluster.html

QUESTION 7
Which two fabric management tasks would be completed using Contrail Command? (Choose two.)

A. Automatically deploy an P fabric underlay.
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B. Modify routing protocol preferences.
C. Change user permissions on Junos devices.
D. Discover devices in the network.

Correct Answer: AD

QUESTION 8

Which network type is created in Neutron and mapped to physical networks?
A. transient

B. tenant

C. provider

D. management

Correct Answer: C

QUESTION 9

What is the proper order for creating a virtual network?

A. Configure the IPAM, virtual network, DNS, and then the virtual machine.
B. Configure the DNS, IPAM, virtual network, and then the virtual machine.
C. Configure the virtual network, DNS, IPAM, and then the virtual machine.
D. Configure the IPAM, DNS, virtual network, and then the virtual machine.
Correct Answer: D

Reference: https://www.juniper.net/documentation/en_US/contrail2.21/topics/task/configuration/creatingvirtual-network-
juniper-vnc.html

QUESTION 10

What is a TAP interface in Contrail?

A. A software network interface that operates at OSI Layer 3.
B. A hardware network interface that operates at OSI Layer 3.
C. A software network interface that operates at OSI Layer 2.

D. A hardware network interface that operates at OSI Layer 2.
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Correct Answer: A

Reference: https://sureshkvl.gitbooks.io/opencontrail-beginners-tutorial/content/introspect/contrail-vrouteragent.html

QUESTION 11

Click the Exhibit button.

{
_ BgpPeerInfoData: {

_ state _info: {
last state: “Idle”,
state: “Idle”,
last state at: 1394778927107639
b,
families: [
“IPv4:Unicast”
1,
peer type: “external”,
local asn: 54321,
configured families: [
“inet-vpn”
1,
event info: {
last event at: 1394778927107880,

last event: “fsm::EvStart”

},

local id: 181196816,

send state: “not advertising”,
peer-address: “10.204.216.2537,
peer-id:181197053,

hold tine: 90,

peer asn: 12345

Within your Contrail cluster, a BGP peer is not advertising routes as expected. After issuing the curl http://
:8081/analytics/uves/bgp-peers command, you receive the output show in the exhibit.

What is causing this problem?
A. an incorrect local ID

B. an incorrect peer type
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C. anincorrect IP address
D. an incorrect family

Correct Answer: D

QUESTION 12

You are asked to create a connection between a VM and two ports on a QFX leaf device in the fabric.
Which Contrail feature must you configure to accomplish this task?

A. virtual network policy

B. floating IP

C. virtual port group

D. virtual network with route leaking

Correct Answer: C

Reference: https://www.juniper.net/documentation/en_US/contrail19/information-products/pathway-pages/ contrail-fabric-
lifecycle-management-feature-guide.pdf#page=113andzoom=100,100,712

QUESTION 13

What are three ways to deploy an MX Series device as an SDN gateway? (Choose three.)
A. Configure it as an L4 gateway.

B. Configure it as an application gateway.

C. Configure it as an SDN-to-SDN gateway.

D. Configure it as an L3 gateway.

E. Configure it as an L2 gateway.

Correct Answer: CDE

QUESTION 14

A snapshot of a VM1 instance was just taken. The snapshot is named VM2. You must launch a new VM instance called
VM2 using the newly created snapshot.

Which step must be taken to launch the instance?
A. Create and launch the VM2 instance using the snapshot found under Project > Compute > Images.

B. Launch the VM2 instance found under Project > Compute > Instances.
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C. Create and launch the VM2 instance using the snapshot found under Other > Snapshots.
D. Launch the VM2 instance found under the drop-down menu for the VM1 instance.

Correct Answer: C

QUESTION 15

Which two nodes are part of the Contrail controller role? (Choose two.)

A. config

B. control

C. analytics

D. load balancer

Correct Answer: AB

Reference: https://www.juniper.net/documentation/en_US/nfv2.1/topics/concept/ccpearchitecture.html#:~:text=Contrail%

20controller%20node%2C%20which%20hosts,virtualized%20network %20functions%20(VNFs).
http://juniper.github.io/contrail-vnc/architecture.html
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